

$$\frac{1}{\cos \alpha} = \frac{1}{\cos \alpha} \rightarrow \frac{1}{\cos \alpha} = 1 \quad \text{Ycos} = 1$$

$$\frac{1}{\cos \alpha} = 1/r \rightarrow r k \pi + \frac{\pi}{r} = \alpha \rightarrow \alpha = \frac{\pi}{r} \quad \text{Y}$$

$$\sin^2 \alpha + r \cos^2 \alpha + r = 0$$

رابطه دارد

$$(1 - \cos^2 \alpha) + r(\cos^2 \alpha - \cos \alpha) = 0 \rightarrow \cos \alpha = r k \pi + \pi \rightarrow \cos \alpha = -1$$

$$r \sin(\alpha) (1 - r \sin^2 \alpha) + \sin \alpha = 1$$

$$r \sin \alpha - r \sin^3 \alpha + \sin \alpha = 1 \rightarrow r \sin \alpha - r \sin^3 \alpha = 1$$

$$\sin \alpha = 1 \rightarrow r k \pi + \frac{\pi}{r} = \alpha \rightarrow \alpha = r k \pi + \frac{\pi}{r} \rightarrow \frac{\pi}{4}$$

$$\frac{\sin(\frac{\pi}{r} + r \alpha)}{\cos(r \alpha)} = \frac{\cos(\frac{\pi}{r} + r \alpha)}{\sin(r \alpha)} \rightarrow \sin \alpha = \cos \alpha \rightarrow \sin \alpha = \sin(\frac{\pi}{r} - r \alpha) \rightarrow r k \pi + \frac{\pi}{r} = \alpha \rightarrow \frac{\pi}{r} = \alpha$$

$$\cos(\frac{\pi}{r} + r \alpha) = \frac{1}{r} \rightarrow \cos \frac{\pi}{r} \cos \alpha - \sin \frac{\pi}{r} \sin \alpha = \frac{1}{r}$$

$$\frac{1}{r} (\cos \alpha - \sin \alpha) = \frac{1}{r} \rightarrow \cos \alpha - \sin \alpha = \frac{1}{r} \rightarrow \frac{1}{r} = \frac{1}{r}$$

$$\frac{m \sqrt{r}}{r} - r \sqrt{r} \sin \alpha = \sqrt{r} \rightarrow \frac{m \sqrt{r}}{r} = r \sqrt{r} \rightarrow m = r$$

$$\frac{m \sqrt{r}}{r} = r \sqrt{r} \rightarrow m = r$$

$$\sin(\alpha + \frac{\pi}{4}) \cos(\frac{\pi}{4} - \alpha) = \sin(\alpha + \frac{\pi}{4}) \times \sin(\alpha + \frac{\pi}{4}) = 1$$

$$\sin(\alpha + \frac{\pi}{4}) = \pm 1 \rightarrow \alpha + \frac{\pi}{4} = r k \pi + \frac{\pi}{4} \rightarrow \alpha = r k \pi$$

$$\alpha + \frac{\pi}{4} = r k \pi + \frac{\pi}{4} \rightarrow \alpha = r k \pi + \frac{\pi}{4} \rightarrow \alpha = \frac{\pi}{4}$$

$$\alpha = \frac{\pi}{4}$$

$$\alpha = \frac{\pi}{4}$$

$$\alpha = \frac{\pi}{4}$$

$$\alpha = \frac{\pi}{4}$$

$$\alpha = \frac{\pi}{4}$$



$$\sin \pi + \sqrt{r} \cos \alpha = \sqrt{r} \rightarrow r \sin \left(\pi + \frac{\pi}{r} \right) = \sqrt{r} \rightarrow \sin \left(\pi + \frac{\pi}{r} \right) = \frac{\sqrt{r}}{r} \quad \checkmark$$

$$\pi + \frac{\pi}{r} = r k \pi + \frac{\pi}{2} \rightarrow \pi = r k \pi - \frac{\pi}{r} \rightarrow \frac{r k \pi}{r} = \frac{\pi}{r} \quad \checkmark$$

$$\pi + \frac{\pi}{r} = r k \pi + \frac{\pi}{2} \rightarrow \frac{9\pi}{r} - \frac{\pi}{2} = \frac{\pi}{2} \rightarrow \pi = r k \pi + \frac{10\pi}{r} \rightarrow \frac{10\pi}{r} = \frac{10\pi}{r}$$

$$r \sin \cos \alpha = 1 \rightarrow -r \sin r \pi = 1 \rightarrow \sin r \pi = -1/r \quad -1$$

$$r \pi = r k \pi + \frac{\pi}{4} \rightarrow \pi = k \pi - \frac{\pi}{r} \rightarrow \frac{11\pi}{r} = \frac{r k \pi}{r} \rightarrow \frac{r k \pi}{r} = \frac{11\pi}{r} \rightarrow \frac{11\pi}{r}$$

$$r \pi = r k \pi - \frac{9\pi}{r} \rightarrow \pi = k \pi - \frac{9\pi}{r} \rightarrow \frac{1\pi}{r} = \frac{19\pi}{r} \rightarrow \frac{r k \pi}{r} = \frac{20\pi}{r}$$

$$r \cos \alpha - r \cos r \pi - r \cos r \pi = 1/r \rightarrow \cos \alpha \cos r \pi \cos r \pi = 1/r$$

$$\frac{\sin \alpha}{\sin \alpha} \cos \alpha \cos r \pi \cos r \pi = 1/r \quad \frac{1}{r} \sin \alpha \cos r \pi \cos r \pi = 1/r \quad \frac{\sin \alpha}{\sin \alpha} = 1$$

$$\sin \alpha = \sin \alpha \rightarrow \pi \pi = r k \pi + \alpha \rightarrow \pi \alpha = r k \pi \rightarrow \alpha = \frac{r k \pi}{r}$$

$$\frac{r \pi}{r} / \frac{5\pi}{r} / \frac{4k\pi}{r} \quad \pi \alpha = r k \pi + \pi - \alpha \rightarrow \pi \alpha = r k \pi \rightarrow \alpha = \frac{r k \pi}{r}$$

$$\frac{r \pi}{9} / \frac{r \pi}{9} / \frac{11\pi}{9} \rightarrow \pi \alpha = \frac{11\pi}{9}$$

$$\frac{\sin \pi \alpha}{\cos \pi \alpha} \times \frac{\sin \alpha}{\cos \alpha} = 1 \rightarrow \sin \pi \alpha \sin \alpha = \cos \pi \alpha \cos \alpha$$

$$\cos \pi \alpha \cos \alpha - \sin \pi \alpha \sin \alpha = 0$$

$$\cos (2\pi) = 0 \rightarrow \pi \alpha = k \pi + \pi/r \rightarrow \pi = \frac{k \pi}{r} + \frac{\pi}{r}$$

$$\frac{9\pi}{11} / \frac{11\pi}{11} / \frac{12\pi}{11} / \frac{13\pi}{11} = 0\pi$$

$$\cos r \pi = 1 - r \sin^2 \pi \quad (\text{نمرات كاي})$$

$$r \sin \pi (1 - r \sin^2 \pi) + \sin \pi = 1 \rightarrow r^2 \sin^2 \pi - r \sin^2 \pi = 1$$

$$\sin^2 \pi = 1 \rightarrow \pi = k \pi + \frac{\pi}{r} \rightarrow \pi = \frac{r k \pi}{r} + \frac{\pi}{r} \quad \cdot \leq \pi \leq 2\pi$$

$$1 < 0 \rightarrow \pi = \frac{\pi}{r}, \quad k=1 \rightarrow \pi = \frac{2\pi}{r}, \quad k=2 \rightarrow \pi = \frac{3\pi}{r}$$

$$S = \frac{\pi}{r} + \frac{2\pi}{r} + \frac{3\pi}{r} = \frac{6\pi}{r} = \boxed{\frac{6\pi}{r}}$$